Charles’ LawRemember that T (temperature must always be converted to kelvin).
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11. A gas has a volume of 6.0 T, 4t

amount of gas are 17
Pt question 20.
a temperature of

+ A sealed syringe contains 37.0 mL of trapped air.
The temperature of the air in the syringe is
C 4 f O “ < . .
295 K. The sun shines on the syringe, causing

| \250 K. What volume will the gas have at 450 K2 et

12. A syringe is filled wi : ' € temperature of the air inside it to increase. If
. ,the};zmi s iSWIt.h 30.Q niL of air at 298.15 K. If the volume increases to 38.6 mL, what is the new

. 7 A dl'.alsec?l"tﬁ 353.25 K, what volume temperature of the air in the syringe?

€ indicate?
13 Th : 2 A a 18. A beach ball is inflated to a volume of 25 L of air
g . 5 empirature ol a 2251 sample of gas decreases in the cool of the morning at 15°C. During the
rom 35.0°C to 20.0°C. What is the new volume? afternoon, the volume changes to 26 L. What was

the Celsius air temperature in the afternoon?

19. The volume of a 1.50 L balloon at room temperature
increases by 25.0 percent when placed in a hot-water
bath. How does the temperature of the water bath
compare with room temperature?

14. A balloon is inflated with air in a room in which the
air temperature is 27°C. When the balloon is placed
in a freezer at —20.0°C, the volume is 80.0 L. What
was the original volume of the balloon?

15. At a summer outdoor air temperature of 30.0°C, a
particular size of bicycle tire has an interior volume
of 685 cm?. The bicycle has been left outside in the
winter and the outdoor air temperature drops to

20. Compressed gases can be condensed when they
are cooled. A 5.00 x 10> mL sample of carbon
dioxide gas at room temperature (assume 25.0°C) is
compressed by a factor of four, and then is cooled

_25.0°C. Assuming the tire had been filled with air . .
in the summer, to what volume would the tire be so that its volume is reduced to 25.0 mL. What
.duced at the winter air temperature? must the final temperature be (in °C)? (Hint: Use
I s £ I What is it both Boyle’s law and Charles’s law to answer the
16. At 275 K, agashasa volume of 25.5 mL. What 1s its oo

temperature if its volume increases to 50.0 mL?
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